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(B4BIRE. 17U CRIGZRIBI DWRIC DT 1,249K(98.89

. EROBIFLE 1,722K (87.5%) 5T T

ne HIFL A RERIAT B&
aidd L e =8 5 =3 5 HE =8 5 BiAm | =g | ¥
R 75 & 75 & 100.0 % 75K 100.0 % — — — " :
1BLK ARE 16 & 16 & 100.0 %) 16 & 100.0 %) - — — [H27.7 435 %) F
91 & 91 & 100.0 % 91 & 100.0 % — — — -
19 & 19 & 100.0 % 19 & 100.0 % — — — — — —
2BLK 5% 5% 100.0 % 5% 100.0 % = = = = = =
24 K 24 K 100.0 % 24 K 100.0 % — — — — — —
199 & 199 & 100.0 % 199 X 100.0 % — — — — — —
3BLK 43 K 43 K 100.0 % 43 K 100.0 % — — — — — —
B 242 K 242 K 100.0 % 242 K 100.0 % — — — — — —
RAEE 33K 32K 97.0% 32K 97.0 % — = — 6 & 57X 83.3 %
4BLK ARE 7AR Iz 100.0 % X 100.0 % — — — — — —
& 40 & 39K 97.5% 39K 97.5 % = = = 6% 5% 83.3%
218 X 217 K 99.5 % 217 K 99.5 % — — — 18 & 17K 94.4 %)
5BLK 47 K 45 X 95.7 % 45 K 95.7 % — — — 2K 0X 0.0 %|
] 265 & 262 & 98.9 % 262 & 98.9 % — — — 20 & 17K 85.0 %
1] 193 & 188 & 97.4% 188 & 97.4 %, — — — 19 & 12 & 63.2 %|
6BLK e 42 K 42 K 100.0 % 42 K 100.0 % — — — — — —
& 235 X 230 & 97.9% 230 & 97.9% — — — 19K 12K 63.2 %)
RIEE 125 & 122 X 97.6 % 122 & 97.6 % - - — 14K 11 &K 78.6 %
7BLK ARE 29 & 28 & 96.6 % 28 X 96.6 % — — — 1K 0X 0.0 %|
it 154 & 150 & 97.4% 150 & 97.4% — — — 15 & 11L& 73.3%
BAEE 102 & 102 & 100.0 %) 102 A& 100.0 %, — — — — — —
8BLK ARE 22 K 2K 100.0 %, 2K 100.0 % = = = = = =
it 124 K 124 K 100.0 % 124 &K 100.0 % — — — — — —
REE 72 & 1A 98.6 % e 98.6 % — — — &S 6 & 85.7 %
9BLK ALRE 17 X 16 & 94.1% 16 & 94.1% — — — 1K E:N 0.0 %|
i 89 & 87 & 97.8% 87 & 97.8 % — — — 8K 6% 75.0 %)
BAEE 1036 & 1025 & 98.9 % 1025 & 98.9 % = = = 64 & 51 & 79.7 %
L {aIE+ ARE 228 K 224 K 98.2 % 224 K 98.2 % — — — 4K OE:N 0.0 %|
£t 1264 & 1249 X 98.8 % 1249 X 98.8 % — — — 68 & 51 & 75.0 %)
BRAEE 84 & 61 & 72.6 % 60 & 714 % 84 X 61 & 72.6 % = = =
10BLK ARE 21 A& 17K 81.0 % 14K 66.7 % 21 & 17 A 81.0 % — — —
it 105 & 78K 74.3% 74K 70.5% 105 & 78 & 74.3% = = =
BIEE 254 & 151 & 59.4 % 142 & 55.9 % 253 A& 159 A& 62.8 % 13K 67 46.2 %
11BLK ARE 54 & 41 K 75.9 % 36 & 66.7 % 54 & 41 K 75.9 % 2K OF: 0.0 %
£ 308 & 192 & 62.3% 178 X 57.8% 307 & 200 & 65.1% 15 & 6K 40.0 %
. 179 X 118 & 65.9 % 169 & 115 & 68.0 %) — — —
# 12BLK Al 39 & 28 & 71.8 % | e \ EYE:S 26 & 70.3 % — = =
E 218 & 146 & 67.0 %) e —— 206 & 141 & 68.4 %) - — —
BEE 57 & 42 K 73.7 % 22K 38.6 % — — — 12 X 6 A& 50.0 %)
13BLK ARE 16 & 15 & 93.8 % 8K 50.0 % — — — 2K o0& 0.0 %|
B 73 & 57 & 78.1 % 30 & 41.1% — — — 14 & 6K 42.9 %
HAEE 574 & 372K 64.8 % 224 K 39.0 % 506 A 335 & 66.2 % 25 K 12K 48.0 %
SEfIET AaE 130 & 101 & 77.7% 58 A& 44.6 % 112 X 84 & 75.0 %) 4K VS 0.0 %|
2 704 & 473 K 67.2% 282 K 40.1 % 618 & 419 & 67.8% 29 X 12 K 41.4%
HAEE 1610 & 1397 & 86.8 % 1249 & 77.6 % 506 & 335 &K 66.2 % 89 & 63 & 70.8 %
At ARE 358 & 325 X 90.8 % 282 X 78.8 % 112 & 84 K 75.0 %) 8k O 0.0 %|
: 1968 & 1722 X 87.5% 1531 & 77.8% 618 & 419 & 67.8% 97 & 63 & 64.9 %
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